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PRINTABLE VERSION
Quiz 4

Question 1

Suppose you have a distribution, X, with mean = 5 and standard deviation = 4. Define a new random
variable Y = 8X - 5. Find the mean and standard deviation of Y.

meanz £ (x)=S 5D(X) T—G;f S|

a)  E[Y]=350y=32
b)  E[Y]=40; oy =27 mMmesc)D = E(‘)Z E(_%X*S): S EL}()—- g

2 -5 -
¢)  E[Y]=35; 0y =256 bSO %5
d)  E[Y]=40; oy =256 G),:%DOD = SD($X-S) = SH(BX) =3 SDK)
=3 (=33

e) E[Y]=350y=27
f) = None of the above

Question 2 I-g‘ & fandemn Vaci cx.\o\o. , X) 'S oomiia\ -\'\\m\ N
Which statement is not true for a binomial distribution with n = 10 and p = 1/20 % 0-9S OD z1-0.05 =0.9Y

W Nave A X WAOR
a)  The highest probability occurs when x equals 0.5000 \. & S' @4 A c
X %0.5 oY 0DSec oS (Conboan

b) = The number of trials is equal to 10 = - 5‘»““@\2&.}) o

Q
¢)  The standard deviation is 0.6892_‘__/ 2. 2 \wase (ac each Sample

_ bt
Oz {ap (-3 = m°‘3 ° o PUTEOMES, Buccess o (g

d)  The probability that x equals 1 is 0.3151 S ‘5 X =
- AT AeoeC 6% Succ
PX=0=cs, D .05 %035 = 0.%5| . NoaC'e @85S oo
e)  The mean equals 0.5000 _~ . 00 :"\ ATT\S
FL%}: O9P :N(OOS):DS < O Ja)(s),‘.,‘:ﬁ
f) = None of the above

. Fixed pra\:q\;.\ e 84 Suceess
Lo¢ cadh = ol (Sam@ed -
S RO = ¢ (e ¥ GRS
In testing a new drug, researchers found that 3% of all patients using it will have a mild side eftect. A
random sample of 8 patients using the drug is selected. Find the probability that none will have this mild side

Question 3

effect. -? - Q‘qo 3 N\-= ?) b‘t Ao MY OA
- 06.97
0.7837 2 _ 3

V P(X=0) = C(B.0)% 0.05 # 097 = 0.97°= 6. 1839
b) ~ 0.0300 -

> dbinom(0,8,0.03 Z N — -

[1]0{23217(434 ! (x = Ab'““”"t">“a?>
¢ 0.9700

https://assessment.casa.uh.edu/Assessment/PrintTest.htm 1/6
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d) 06791
e)  0.5305

f) = None of the above

Question 4

In testing a new drug, researchers found that 3% of all patients using it will have a mild side effect. A
random sample of 14 patients using the drug is selected. Find the probability that at least one will have this

ild side effect. Yo \
mild side eftec 1?:.().03 ﬂ:—"l‘* X: 0) \)Q) -»-JN Scob«“&\u\or CB\.u\'\o:

a)  0.5482
T ?(X 2\) = X2 D) +RK=2D4P (K= SR R G
| = ) - ®(x=0)
¢)  0.4099
- \- d\ﬁ\ﬁomLO, I4,0.03)

d)  0.0300 |

> 1-dbinom(0,14,0.03)

[1] 0.3471637
e)  0.9700

f) = None of the above

Question 5

In testing a new drug, researchers found that 6% of all patients using it will have a mild side effect. A
random sample of 11 patients using the drug is selected. Find the probability that exactly two will have this

mild side effect.
P=0.0 \=\\ Bitomio)

a)  0.1635
PX=2) = Aoinem (2, 1,0.80)
b)  0.1435
> dbinom(2,11,.06)
¢)  0.1535 [1] 0.113453
dy  0.1135
) 0.1235

f) = None of the above

Question 6

A manufacturer of matches randomly and independently puts 22 matches in each box of matches produced.
The company knows that one-tenth of 5 percent of the matches are flawed. What is the probability that a
matchbox will have one or fewer matches with a flaw?

a)  0.09901 N=23 7= 0.5 /= 0.00S
PXEV) = P(X= v ?=)  camdodin

https://assessment.casa.uh.edu/Assessment/PrintTest.htm /6
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- ?B‘MML\, 22,6 08%)

b)  0.8956
> pbinom(1,22,.005)

c) 0.9946 [1] 0.9945966

d)  0.9950

e)  0.004500

f) = None of the above

Question 7

Suppose you have a binomial distribution with » = 14 and p = 0.3. Find P(5 < X <9).

a) 04141 P(S XD = P(X=5) ¥yRPU=6DS ¥ XDV (X' k=9

b) 0.6141 > sum(dbinom(5:9,14,0.3))
[1]0.4141332

¢)  0.5075 _

= R(x4a) - P(X<B)
d)  0.4075

= P - P(xEWD
e) 04581 ‘ :

= phireela, 035 - Dotaeen LN, 0y
f) - None of the above > pbinom(9,14,0.3)-pbinom(4,14,0.3)
Ouestion § [1] 0:4141332

uestion

Each year a company selects a number of employees for a management training program. On average, 40
percent of those sent complete the program. Out of the 41 people sent, what is the probability that exactly 8

complete the program?
P=vh =04 =M\

a)  0.0469 P(X=2) = dviasm (8, 4,04 = 00039
b) ~ 0.0044 —

¢)  0.1044

d)  0.2029

¢) ~ 0.0029

f) = None of the above

Question 9

Each year a company selects a number of employees for a management training program. On average, 80
percent of those sent complete the program. Out of the 15 people sent, what is the probability that 11 or more

complete the program?
P=3%h=0% 0N=I(S
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a)  0.6481 PX20W) = - PO = 1 - PO
—~ ~
b) 04518 = |~ Poiaeem US, 15,009
= 0O-¥3s5y
¢)  0.8357
d) 03518
¢)  0.1642

f) = None of the above

Question 10

A fish tank in a pet store has 21 fish in it. 9 are orange and 12 are white. Determine the probability that if we
select 4 fish from the tank, at least 2 will be white.

a) 02114 Ao d oc | 6c O  ororag
@ W d oc Dery
b) ~ 0.8105 —_—
<\ ¢
¢)  0.5714
d)  1.0305 PR W oad oD y (20 and VoD ¥ RC ORL TN
e) 01894 Coose (12,20 Choose( 4,2 N Lihoose (123D  dense(, )
f) = None of the above cwease (2 ) \\> Croaxa (A "\3
: 3 Choese (R, D% woxla 0)
Question 11 Onoome L 2\3&\>

Identify the following distribution as binomial, geometric or neither.
A quarter back completes 44% of his passes. We want to observe this quarterback during one game to see
how many pass attempts he makes before completing one pass.

.IS X S 3e oM aAcCle
X = ¥ o Satutes =0,\,2,. . .
b) = Geometric P ,?ranb“\}\‘bbg SeCCe s

¢)  Neither '?U( =« > -y L\ -?Dr

Question 12

a)  Binomial

A quarter back completes 48% of his passes. We want to observe this quarterback during one game to see
how many pass attempts he makes before completing one pass. What is the probability that the quarterback
throws 4 incomplete passes before he has a completion?

a)  0.0402 P=odb Geomedeic

4
X =9) = o 43\ -0.43) =0.0350

b) ~ 0.9649
= &%ﬂom(\-%o.‘f&‘)
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) 0.0350
d)  0.0182
e)  0.9817

f) = None of the above

Question 13

A quarter back completes 22% of his passes. We want to observe this quarterback during one game to see
how many pass attempts he makes before completing one pass. Determine the probability that it takes more
than 11 attempts before he completes a pass.

a)  0.0363 = 0.d2

b)  0.9349 TX>uH= (- 0.39)“ = 0.66S
¢)  0.0650 ’PQ)\ S CB - ( \ "'?_)r

d)  0.9856

e)  0.0143

f) ~ None of the above

Question 14

Joe has an 37% probability of passing his statistics quiz 4 each time he takes it. What is the probability he
will take no more than 5 tries to pass it?

a)  0.0587 P=031 Y(x<¢5)= \ - R(X>SD

b) ~ 0.9632 = ) - L\-O-?ﬂ)s
¢ 0.0992 = o 1007

d)  0.0367

¢) 09007

f) ~ None of the above

Question 15

Joe has an 19% probability of passing his statistics quiz 4 each time he takes it. How many times should Joe
expect to take his quiz before passing it?
P q p g \ P =0l q

a) 4 EU(): _?-_

E o= ‘é‘ﬁi =520
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b)

c)

d)

https://assessment.casa.uh.edu/Assessment/PrintTest.htm
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57

None of the above
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